10000233 - KA 65 230V-240V




4 ‘11:\‘ E ARSI
""-ﬁ_“ ; \ '_‘_ y A
E L. '-_’4 p i~ & = \
%
/Y
Pos|Y4acT No. OnucaHue Konuuecreo
1 ]499761 |Kodyx 1
2 400928 |BUWHT cbc chepuyHO-UMAMHAPUYHa rnaesa M4 x 25|5
3 500080 |MpekbcBay 1
4 706512 |Kaben ¢ wekep 1
5 10010760 |KabenHa HacTaBka 1
6 499762  |Mokputne 1
7 499763 ' |®OuKcupall eneMeHT 1
8 400050 |BUWHT CbC chepnyHO-UMANHAPWNYHA rnaBa M4 x 12|18
9 499764 |lMokpuTme 1
10 [499765 |OcHoBHa nsio4a 1
11 |10000907 |MHOro>xunaeH NpoBoAHMK 1
12 |10012842|KombuHmMpaH BUHT 3
13 |761437 LUnnunHapunyer BuHT M5 x 12 11
14 [499766 |MoTtop 1
15 [10003012|Koneno Ha BepuraTta 1
17 [10000098|MarHunTHa apbxka 1




18 [10002609|MHOroxxnneH npoBoAHUK 1
19 (499767 |EnekTpoHMKa 1
20 |10002833|MocT 1
21 |499768 |Mogp 1
22 |500535 |BeHtunartop 2
23 |10000091|Ponka 2
24 110004878 |0OnopHa KOH30Ma 3
25 |499769 |PvbkaB 1
26 |418269 |LWanba 4
27 |10002961|0OnbBaTesiHa NpyxuHa 1
28 |10004048|MnaHka 1
29 |10002960|Koneno Ha BepuraTta 1
30 |400526 |UunuHppuyeH BUHT M5 x 25 1
31 |10000046|Bepura 1
33 |10000034 |Pe3epBoap 1
34 |499774 |MNnouva 1
35 |499775 |Noct 1
36 |228570 |BuWHT cbC cepuuHO-uMAMHApUYHa rnasa M4 x 8 |2
37 |499776 |EnektpoHuka 1
38 |228509 |BWHT CbC CchepuUHO-UMNMHAPUYHA rnasa M4 x 122
39 |10009014 |Obpxady Ha kaben 1
40 |10002617|MHOro>xxunsieH NpoBoAHMK 1
41 1499777 |Motop 1
42 1400233 |BMHT cbC chepunyHO- 3
unnuHgpuyHa rnaea 3,5 x 25 mm
43 |499778 |EKcueHTpMKOB Ban 1
44 1205230 |EnekTpoHMKa 1
45 (228643 UnnnHapunyer BuHT M5 x 16 5
46 |451533 |BbpTaw 6yTOH M6 1
47 1499780 |Mnoua 1
48 1499781 |[Ban 1
49 (499772 |HanpasnsBawa 1
50 (401089 |BMHT cbC chepUYHO-LUNAMHAPUYHA FNaBa 2
51 |704875 |MwukpowanTtep 1
52 |500538 [MoTtop 1
53 1499773 |OxnaanTenHo Ta10 1
54 |500537 |[CeH30p 1
55 110002540|MHoOroxuneH NnpoBOAHUK 1
56 1400468 [BUMHT cbC chepuyHoO- 3
unnuHgpuvyHa rnaea 3,5 x 14 mm
57 1499770 |Opbxka c BAnNbOHaTMHA 1
58 1219068 [BUWHT cbC chepuyHo- 1
unnuHgpuyHa rnaea 3,5 x 25 mm
59 1499783 |Adpbxka c BANbOHaATMHA 1
60-.[499784 |Kodyx 1
61 1471476 |[OpHa 4acT Ha ApbXKa 1
62 110000317 |Ban 1
63 1499785 |EnekTpoHuka 1
64 10000191 |FymeHa neHTta 1
65 |219043 |BuHT cbc ckpeTa rnasa M4 x 8 4
66 |499782 |[Maca 1
67 |500563 |lpuTUCKaTeneH efleMeHT 1
68 |400329 |KanubpoBaH anck 1
69 |10000207|HarpeBaTeneH naTpoH 1
70 10002397 |HarpeBaTesnieH naTpoH 4
71 |203496 |®untep 1




